Контрольная работа №5
Действия с рациональными числами
Вариант 1

1. Выполните действия:    
 [image: image2.png]+(-3) o (D) 0 (5):(-2)



 . 
2. Найдите значение выражения:   [image: image4.png]2,2-13,1—(-4,7)- 2,2



.
3. Решите уравнение   [image: image6.png]1
(15—-x%)-5=10;



.
4. Найдите значение выражения:    [image: image8.png]


.
Контрольная работа №5
Действия с рациональными числами
Вариант 2

1. Выполните действия:    

 [image: image10.png]-5+25 OS+(-5) w5 (-15) 0 (-5):(-3)



 . 
2. Найдите значение выражения:   [image: image12.png]2,81-12,1—(—4,8)-2,81



.
3. Решите уравнение   [image: image14.png](L4+x)+5=10;



.

4. Найдите значение выражения:    [image: image16.png]


.
